DOV 172 AR 17"'7 '0I0 X,T Naw .7"03

2371MY7 12 92N — But between the pillars —

ST 2397 w2 — it is considered a 2"'71n

NIRRTV TR TIRY P2 PR 92 Y nX — even though that between any two

pillars, there are no sixteen NN\ separating them, and we know that a 7"717

requires a width of sixteen NnX, nevertheless

292977 N1 7 — the area between the pillars is a 9''779. Why is this so?

MBoIN explains

72 YR 29297 Mwn s1aw 1190 — since the people who utilize the ="'

traverse through this area between the pillars

AR WY W ann 2v37nyn 2% M — and the entire area, which extends

beyond the area of the @37mp: 392, is sixteen n»R wide, therefore even the

NAITOW area is also a 7"7", since it is incorporated and part of the larger
"

Summary
Areas of a 2"11 that are narrowed down to less than sixteen MR, are still

considered a 0'"10.

'See > "7 X,1 Moon footnote # 11, ("W 11°73) 81N 31 7"7 2,1 1P217°Y MDoIN.



